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[BFiR] ARBIOZRTOVRDIAEIRR

(AR %5))
Jovk 1—1 LR 284F TREoof B TERLI0ER
NO 1 iE AESAA #Eys(m)|PAxEEAR #E(m)|AEEAD #HE (M)
1 Y93 1.00 1.60 1.75
2 B3 0.88 1.50 1.54
31 YU 058 0.60 ith
4, HHS 0.40 0.80 0.96
5 Ho5 H28.9.27 0.58 H29.9.26 0.90 H30.10.5 1.30
6 HI5 1.10 1.40 o 1.16
17 HoS 0.60 0.70 0.77
8 B3 0.58 0.90 0.91
9 XTI 0.55
10l 2X+5 0.30
(ARREFELA)
Jovk 1—2 T 28R fE P R04E i R0 RE
NO HiE SAEEAR #HE () |AEERR #HE(m) |HEEEB #HE(mM)
11 RA/x 0.66 i -
2. A/ F 1.10 1.30 1.36
3 413VAT 040 | 0.50 0.65
4 RA/F 0.94 1.60 | 1.53
5| A/ F H28.9.27 0.74 | H29.9.26 1.60 1.68
6 RA/F 0.70 1.60 1.68
7. A/ F 0.24 0.30 H30.10.5 0.27
8 HRA/F* 0.24 thh -
9| U )LE 1.80
10| YOS 0.56
1] B20IIL= 0.57
120 YOS5 N3 0.38
(ARIERF])

Jovk 1-3 o8 LE TR0 FR0ERE
NO 15 HEERH #HEM)|FEEAB #HE(m) |FAETERE #HE(mM)
1 rhrj:/fl— H28.9.27 1.06 | H29.11.2 1.36 130105 1.37

2 EAHT
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[EFiR] BREIDSTOVFDIREIRR

(B igg{%51)

Jovk 1—1 TRtos4E R TR0 TREI0ERE

NO g EERE #HE(m)|AXEAR HE (M) |[FAEEBE #HS (M)
I PES 0.30 0.42 0.24
A PES 0.10 0.23 0.19
3| A BNV HhTTF H28.11.1 0.20 H29.10.26 0.24 0.42
44 97 /F 022 025| H30.105 0.14
5] Fang 0.22
6l FA 0.14
1l 3L TF7IS 1.35

(BEREZEZLA)

TJovk 1—2 TRLBERE T RROEE TR0

NO ﬁﬁi_ MEEAA #HEMEREERE #HEM) |AEEAE #HE(m)
1| Bo3 1.48 1.60 2.46
2| HA/F 0.70 1.00 1.26
3| RA/FE 0.40 0.76 0.93
4| FF/F 0.16 0.18 0.10
S H28.11.1 0.0 H29.10.26 571 H30.10.5 07
6] RA/F 0.40 0.60 0.66
Il R~A/F% 0.30 x —
8l A/ F 0.30 0.30 0.36
(B {£51)

Joyk 1—3 R8N TR20EE ERI0E

NO HH3E BEEAR #EMFREAR HE(m) [EAEEAR #E (M)
1] 2XF5 0.18
2] EXFS 0.17
3] =2XFS 0.17
4] X+ 0.22
5] 2X+5 0.13
6] XIS H30.10.5 0.33
7l 2XFS 0.10
g 2XF5 0,15
5] 2XF5 0.10
10] S X455 0.26
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[BFiR] CREIDETOVDREIRR

(CE L)
Jovk 1-—1 TR TRHNERE FRI0ERE
NO| 13 HESAE H#E(m)PAEERE #E ()| IEERA BHE(mM)
IEEPES 0.08 0.40 1.14
2 j}?“-ﬁ- 0.08 0.41 0.70
3 WS 0.14 0.34 0.58
Al huS H28.9.28 026 | 291026 051 | H30.10.5 1.04
5] AYS 0.18 0.51 0.57
6 HHS 0.38 0.89 1.13
EE S 0.25
(CEEEFRLF)
JAavk1—2 T TR TRIOEE
NO Y MEEBED HE () |AEEAD HE(mM)| AEERR #B(n)
NS 0,34 0.41 0.18
2| RA/E 0,60 0.85 1.02
3| A /E 0.36 0.36 0.70
4 7+ 2.00 2.32 2.50
5| A/* 0.56 0.87 1.04
RS PE H28.10.28 |—st—] H29.10.26 =58 57
7 75 0.08 028 H30.10.5 0.36
8] /% 0.18 0.21 x
g9 A3 9.00 9,00 9,50
10 A¥ 21.00 21.00 22,00
1] =S X+5 0.25
12| EX4+5 0.16
13 Y55 0.43
(CREHE{EA)
Joyk1—3 T RL2BAERE TRE294E TR0 EE
NO EERE PEERBA|BEM|PEEER #HE(m) | AEEEHE #HE(mM)
12HF55 0.14 0.26 R
2| SHYHFHS 0.14 x —
|12V hTT 0.16 0.24 x
4 T/* 0.10 0.18 x
5 «réj;vﬁ:::—“j-“ 0.12 0.1;5Z R
6 V) 0.12 —
S TSojFss| H28.10.28 | —poe—] H20.10.26 51 R
gl oUTHS 0.08 R -
9 9?;;:"75 0.06 ﬁ —
10 5 0.12 —
11132555 0.06 oio] 0109 x
12 hHvS 0.18 0.32 x
13]  HAvS 0.10
141 AHYS 0.25
15]  AVS 0.60
161 AYS 0.50
170 A5 0.25
18]  HUS 0.42
19]  HvS 017
200 F\F 0.56
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